S-

-H =180721

9|9AAl] <IHE 2011.3.3>

3

HX| M7

o

S

ol

Al |

ol
g
£l m
ol
o - 5
5 o . i
R M- — ol N
eV} o ©
T 1o N = B
© I+ . « N
of 2 Ho M_”_ =
T <
oo I T H
o2 o9 -
—— .__Al._ (@] _.__o _|.|_ <t E_.E QH._
< K 5 -
H I A 3
! :
KIr o]
£) Rl iy Eu
.-_-______ N~ ._._o \nlu/
s & B. KF
Ir —
KO Iy -
o = o o
KIr N X o0 =
S Ho —
o Tofd . _
_._._ it < . S
S =1l ~ lof «
Ho | < R 20 =
8 = |z i
B K 0 I ®l o K
< [
g 7| |5 | |® = _
<l el ~ ||z 2 G
o] .ol R iy N
- o Lo B = 50 e K0
=l KT = R K
mn__ o o H = < = ol
“llmw xw ||mw i iC
ol [|K0O KF & Tl Tl < K
| |® R R3O0k gl
< Ay
= H
. K0 ol Kd
= ! g %
© M m_
Tl <l <! h
Ir

210mmXx297mm (&

o

°[104M

s

X M7

=

I




ol10MAl] <& 2011.3.3>

=l

x| HM17

=]
=

[

|
&

i ol
ol o 52
& 0 Kl
T __A._ "Nt o
B Y =3
- o _ ©
Bl =7 — &) o
W 5 NI
- H/.H o ™|
- KE = El -
o & i 5
20 = A i «
= X R0 =
m B0 W RTE HIr Gl
SR B R
o 31 OF T 0 < a
Kq > M Il
4 I o | S = __+o
—= Ho Il o o &0
= K S| 0F KIr
[\ R o | = i
il . RS _ "
- N K| o© M R R Ho
_Ao o\ — = | % 5 = K
MH i o T
__A_ﬁ o ..A.o T- - Ml ﬂvﬂ
U < o —~ T med i
< o0 _x__u o E o
Ho o @ e = i L &
T ORE N = =
[al ~ Ry M ~ o = T RO
T o E g < =5 uo | % ol K o
< ol X 7z 0 = K 0\ *
Kom o _xr SRS ® ol 3 o
I R - =SR] - | o E3 E
By _ Ez & T Ko | = . K-
=TI = A= — R 0
SN HR o 2 R " 4 s i
0 . - B I oF %0 0 I
KO K- RO nT Bl k- o o X m_u_ 0 20 = J_Ae_
HRERT o & 7 K" K Y %0
o _A _ I_ﬁl _
m.m o .o_._.Au _ T il s :l._ o ol
~ K T = I |m - - K &l E
-+ W = N ra = | X0 | N0 = —_ S A
KO = K 3 <0 T o+ ol
S QR K| M - ol I
[k R K KO RO 0 %0 g H
KT K Kr KIr KIr KIr = Pl
: £ . : : .
1 ~ [aV} (3p] < 0

)

I2E

=
=

F2X| 60g/m: (X

=0

old

210mmX297mm(




£34
=5 o5 =ESPN Flow Volume E¥sx Znl0i=
2H=) (£/min) (£) (71 /cr)
1 oA 100 10.050 1,005 0.0078 7| &Ex|o|zt
Foja 100 10.083 1,008 0.0068 7| Zx|algt
Ho{4 100 10.077 1,008 0.0054 7| &%|o| gt
g 4-2 100 10.063 1,006 0.0049 7| & x|o|zt
M 35 4-2 100 10.077 1,008 0.0063 7| Zx|algt
T2 3% 4-2 100 10.086 1,009 0.0058 7| &x|o|gt
o 35 41 100 10.087 1,009 0.0073 7| &x|o|zot
Fo 35 41 100 10.089 1,009 0.0044 7| Zx|algt
T 35 41 100 10.061 1,006 0.0049 7| & x|o|gt
T 35 552 100 10.065 1,006 0.0073 7| &x|ofot
T 35 522 100 10.023 1,002 0.0064 7| Zx|algt
T4 35 A 100 10.069 1,007 0.0068 7| Zx|olgt
T35 A 100 10.033 1,003 0.0059 7| & x|o|ot
3 35 A 100 10.041 1,004 0.0054 | 7|Z=x|o|gt
T4 35 A 100 10.055 1,006 0.0049 7| Zx|olgt
= 35 FH|4A2 100 10.078 1,008 0.0044 7| Zx|algt
T 35 Fd|4aH 100 10.062 1,006 0.0078 7| Zx|olgt
=1 3Z 1motc 100 10.042 1,004 0.0068 7| &x|o| 2t
Za 3= motx 100 10.089 1,009 0.0053 7| Zx|algk
57 3% mop 100 10.052 1,005 0.0063 | 7IZ=x|ojgk
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Sample no. Location Flow(lpm) | Time(min) | Volume Fibers | Fields | Fibers/mr | Fibers/cc | 7|&X] 23 o 5
#1 S35 dojd 10.050 100 1,005 16 100 20.3720 0.0078 0|5t
#2 235 ¥ofA | 10.083 100 1,008 14 100 | 17.8255 | 0.0068 0|5}
#3 S35 dojd 10.077 100 1,008 11 100 14.0058 0.0054 ol s}
#4 35 4-2 10.063 100 1,006 10 100 | 12.7325 | 0.0049 0|5}
#5 S35 4-2 10.077 100 1,008 13 100 16.5523 0.0063 0|5t
#6 3235 4-2 10.086 100 1,009 12 100 | 15.2790 | 0.0058 0|5
#7 =2 35 4-1 10.087 100 1,009 15 100 19.0988 0.0073 0|5t
#8 3 3% 4-1 10.089 100 1,009 9 100 | 11.4593 | 0.0044 o| 5
#9 =z 3% 4-1 10.061 100 1,006 10 100 12.7325 0.0049 0|5t
#10 Sp 35 252 10.065 100 1,006 15 100 | 19.0988 | 0.0073 0|5
o #11 FH3E L2 10.023 100 1,002 13 100 16.5523 0.0064 0|5t
= #12 S35 UL 10.069 100 1,007 14 100 17.8255 0.0068 0|5t
#13 S35 HA 10.033 100 1,003 12 100 15.2790 0.0059 0|5t
#14 S35 WA 10.041 100 1,004 11 100 | 14.0058 0.0054 ol 5t
#15 S 35 A 10.055 100 1,006 10 100 12.7325 0.0049 ol s}
#16 3% Zu[A2 | 10.078 100 1,008 9 100 | 11.4593 | 0.0044 0|5}
#17 =2 35 Eo| 4 10.062 100 1,006 16 100 20.3720 0.0078 0|5t
#18 =3 3% mol: 10.042 100 1,004 14 100 | 17.8255 0.0068 ol st
#19 =2t 35 mlot: 10.089 100 1,009 11 100 14.0058 0.0053 0|5t
#20 T& 33 mote 10.052 100 1,005 13 100 16.5523 0.0063 ofst
B1 0 100
B2 - 0 100

x4
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Sample no. Location Flow(lpm) | Time(min) | Volume Fibers Fields | Fibers/mr [ Fibers/cc

#1 T 285 2-2 10.087 100 1,009 15 100 19.0988 0.0073
#2 285 2-2 10.090 100 1,009 14 100 17.8255 0.0068
#3 T 285 2-2 10.094 100 1,009 9 100 11.4593 0.0044
#4 135 MEELD 10.089 100 1,009 10 100 12.7325 0.0049
#5 = 2ES FH|A | 10.091 100 1,009 13 100 16.5523 0.0063
#6 =2 SEHS Fo|4 10.086 100 1,009 12 100 15.2790 0.0058
#7 2833 =84 10.089 100 1,009 15 100 19.0988 0.0073
XA S =5 A #8 =235 =34 10.091 100 1,009 8 100 10.1860 0.0039
2t #9 =235 Aletd 10.092 100 1,009 10 100 12.7325 0.0049
#10 =2t 35 Altal 10.093 100 1,009 11 100 14.0058 0.0053
#11 =2 35 A ki 10.034 100 1,003 13 100 16.5523 0.0064
#12 =2k 35 Alta2 10.075 100 1,007 14 100 17.8255 0.0068
#13 = 35 Alcta2 10.057 100 1,006 12 100 15.2790 0.0058

B1 - 0 100

B2 - 0 100

Ao EAY A2 HM80x29(MHSET|E) 1 0.0171/cc)




